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Q1 An investment of Rs 200,000 is made which earns interest at the rate of 8 percent per 

year, if interest is compounded continuously 
i. Determine the exponential function which states the compounded amount as a 

function of years of investment ‘t’ 
ii. What will be the amount Rs 200,000 grow to if it is invested for 5 years? 
iii. Solve equation ln(x2 + 3) – lnx2  = 1     

  
Q2 a) An individual invests Rs 25,000 in a money market fund which is expected to yield interest 

at a rate of 12 percent per year compounded quarterly, if the interest remains stable, to 
what amount should be the Rs 25,000 grow over the 5 years? How much interest will be 
earned during this period?   

 

Q2 b) Compute (A X B)t    where   

 1      2      5 
    A =      0     1    –2     B =    3     2     –1 

  3     2     4  4     3      0 

 
Q3 Solve the following equations by using (Gaussian Method or Cramer’s Rule)  

x1 + x2 +   x3        = 6 
2x1 – x2 +  3x3    = 4 
4x1 + 5x2 – 10x3   = 13  

 
Q4 a) For the quadratic equation y = x2 – 4x + 3   determine followings: 

i. Which way the parabola opens? 
ii. The vertex 
iii. The roots 

 
Q4 b) Solve the following equations with the help of matrix  

 4x + 3y = 4 
–2x – y = 0 

 
Q5 a) Find the derivative of x   f(x) = (x3 – 2x5)(x4 – 3x2 + 10) 
Q5 b) Determine the average rate of change in the value of y in moving from x = –1 to x = 2 
                                              Y =f(x) = x2 –2x + 3 
 
 

END OF SUBJECTIVE PAPER 


